ITI Computer Operator and Programming Assistant (Java) 1st
Year Module 15 Introduction to Cloud Computing &
Application Development Life Cycle

(1). Which of the following is a type of cloud computing service? | frafafaa A G oA

FASS FF AT BT UHR 22
(A) Service-as-a-Software (Saa$)
(B) Software-and-a-Server (SaaS)
(C) Software-as-a-Service (SaaS)
(D) Software-as-a-Server (SaaS)

Correct Answer : C

(2). What does PaaS$ stands for? | PaaS T HIT I %?
(A) Platform as a Service

(B) Platform as a Software

(C) Parallel as a Service

(D) Parallel as a Software

Correct Answer : A

(3). Which of the following is not correct model in Software Development Paradigm? |
fraffea & 9 o1 w1 SivedaR saaud< uRIFSTm & |8l Aisd 181 &2

(A) Waterfall Model | qIeIBId AISd

(B) P model | W Arsd

(C) Spiral Model | gftfer Afsd

(D) V model | dl arsd

Correct Answer : B



(4). Which of the following is not a type of cloud server? | ﬁyﬁrﬁaﬁﬁaﬁqmm
TR PTUPR TE1 &2

(A) Public Cloud Servers | Ufere FITSS v

(B) Private Cloud Servers | mm'\‘lﬁ

(C) Dedicated Cloud Servers | Sfehes s gdd
(D) Merged Cloud Servers | oS T3S 9dd

Correct Answer : D

(5). Which one is not a main type of resources used in cloud computing? | P I T3S
ST & U ST BT BT UPR T8l 82

(A) Private Clouds | IEEIEICS

(B) Public Clouds | HTdSI-® STga

(C) Hybrid Clouds | mm

(D) Manual Clouds | ﬁa'&ram‘c{a

Correct Answer : D

(6). What is Cloud Computing? | TGS HF[CT HIT 8?2

(A) Cloud Computing means providing services like storage, servers, database, networking,

etc., |;am$qﬁﬂmma@%ﬁ,w,%aéwﬁaaﬁwma@ﬁﬁﬁﬁmm
TR

(B) Cloud Computing means storing data in a database | WWW anf%smﬁv
H STeT WR BT

(C) Cloud Computing is a tool used to create an application | mm@ QHT
IUHVI B o UM iR =e 991 & fore farwirar @

(D) None of the mentioned | a%r@aﬁﬁaﬁiqﬁ

Correct Answer : A



(7). Website, Server, Internet this are an example of which web hosting? | aaws?:, '\‘Iﬂ?,

g3Ic 8 5 d 99 SR 371 IarevT 82
(A) Shared | RIS

(B) Virtual | I

(C) Dedicated | SfSHcs

(D) Web | a9

Correct Answer : C

(8). What is the full form of ADLC? | ADLC &1 YUl ™1 &I 82
(A) Application Development Life Cycle

(B) Additional Development In Life Cycle

(C) Application Desine Life Cycle

(D) Additional Desine Life Cycle

Correct Answer : A

(9). What type of computing technology refers to services and applications that typically run
on a distributed network through virtualized resources? | f&r & Waﬁmw
I Tarait 3R SrIuanT &1 Hefiia #edt @ S Sk WR aysrargss el & Aread
¥ faafva Aead w gad §2

(A) Distributed Computing | %wgm

(B) Cloud Computing | mm

(C) Soft Computing | ﬂ'\I{RE—QIﬁ"T

(D) Parallel Computing | WW

Correct Answer : B

(10). Which of the following is the correct statement about cloud computing? | I3 S

e F I ¥ Frafafea ¥ 9 T sy g @2



(A) Cloud computing abstracts systems by pooling and sharing resources | mam]ﬁm
TSt de Rived gfeiT SR T &) AR e

(B) Cloud computing is nothing more than the Internet | WWW'\QW
POTRI o

(C) The use of the word “cloud” makes reference to the two essential concepts | “cloud”

e BT IYUNT ) ATIYSH AFYRUMSA BT HeH a1

(D) Cloud computing services are accessed by the user only after the software is installed on

their own device | mmﬁmﬁmwmm m%ﬂmtﬂ'
AT AR SETd - & 916 ot fbar a1 g

Correct Answer : A

(11). Which of the storage technologies among the following is have the best performance? |

fFrafafaa # 3 fra RS aeie o1 U= Tad a1 8?
(A) NAS
(B) SAN
(C) DAS
(D) SAD

Correct Answer : B

(12). What is the full form of SDLC? | SDLC T JUf =7 T §?
(A) System Development Life Cycle

(B) Secure Development Life Cycle

(C) Software Development Life Cycle

(D) Search Development Life Cycle

Correct Answer : C

(13). Which type of integration testing uses stubs? | PO UsR &1 3@")"0‘[ W I BT
SUGRT HdT 82

(A) Top down testing | a1 ST ¥



(B) Bottom up testing | dicH 3 efeT
(C) Both in top down and bottom up testing | aT-ﬁE'\fUG'I?Ff 3R afeH 3y fRH
(D) System testing | fRIeeH &

Correct Answer : A

(14). What does the RAD software process stand for? | RAD Treeaar ufspar feaa gafta
a2

(A) Rapid Application Development
(B) Recent Application Development
(C) Relative Application Development
(D) Rapid Application Design

Correct Answer : A

(15). In which one of the following, a strategy record or document is created respectively to
the events, conditions a user may face while applying cloud computing mode? | ﬁ'ﬁlﬁl’@’d

# A fPaH, T3S AT HIS ) R A GHY IUGRTHAT gRT YTHAT B 14 areft
"e-afi, fRufaal & fire swa=n: ve Wesh Rl a1 sTagie 9141 oira1 872

(A) Cloud Computing Value Proposition | ma»‘qﬁﬂaﬂuﬁﬁwr
(B) Cloud Computing Strategy Planning | mmﬁ%ﬁﬁmﬁﬂ
(C) Planning Phase | I B

(D) Business Architecture Development | ﬁﬁﬁﬂ' 3nfdear Saaudc

Correct Answer : B

(16). Who should review the detailed design before it is developed? | Eﬁmﬂaﬂﬁ"\ﬁ

Uygd feecs fEwms= & e frg w1 arfige?
(A) The developer | STAUR

(B) The users | guIX
(C) As many stakeholders as possible | ﬁﬁﬁﬁiﬁﬁmm



(D) The ICT support team |ICT'\‘Iﬁ'(§'EﬁT[

Correct Answer : C

(17). Which one of the following options can be considered as the cloud? | ﬁ'ﬂﬁ'@’d

fawed ¥ A 59 U &1 Farss 7HT o1 &l 32
(A) Hadoop | gU

(B) Intranet | §eMC

(C) Web Applications | A& SUINT

(D) Application | 3TdG

Correct Answer : A

(18). Which is an organization that sells or leases memory space on its servers. Is typically
done in a data center, which provides services to clients that enable them to publish websites

on the Internet? | ﬁwﬁw%ﬁﬁﬁwﬁﬁﬁ@véﬁm?ﬂﬁwﬁ
21 ATHAR TR TH Sl % A fHar w1 8, St res! o1 U} Aare e w3d1 g &l 32
S WX A9HTSC] B YhTIRId B H W& Tl &2

(A) Web Hosting | aﬁaﬁ'ﬂ

(B) Internet Hosting | Wﬁ%’q
(C) Domain Hosting | @ﬁ'ﬁqm
(D) Server Hosting | Waﬁ'ﬂ

Correct Answer : A

|98

(19). The World Wide Web is a massive collection of web sites, all hosted on

SS9, IT HIScl PIUP fAuma U g, s Al WeERe fPu e g

(A) computers | W
(B) internet | Ezﬁ?
(C) World Wide Web | I¢S IS dd



(D) A network | Wﬁﬂﬂ?&

Correct Answer : A

(20). What is Debugging? | %ﬂﬁmwa’?
(A) Creating Program Code | mﬁﬂuﬁmaﬁs

(B) Finding And Correcting Errors In The Program Code. | maﬁgﬁwﬁ@w 3R
YR

(C) Identifying The Task To Be Computerized. | EFW aﬁ & ﬁl’({ TRP Bt Ygdid
HIHAT

(D) Creating The Algorithm. | qaill’\*wﬁm{m |

Correct Answer : B

(21). Which of the following cloud deployment are owned and operated by a third-party
cloud service provider, which delivers their computing resources like servers and storage over

the internet? | Fafofaa & @ ®19 O1 Fass TRfAeH te qdtu-uel wass a1
USIAT §RT W 3R Farferd fHar Sirar 8, s ge3e IR 9dR 3R RS o 3g+
ST T B faafvd sear @2

(A) Public Cloud | Uf<T® T3S

(B) Private Cloud | tnsﬁ'c'm

(C) Hybrid Cloud | BTSIIS FATSS

(D) Private and Hybrid Cloud | uﬁﬁf@mﬁsm

Correct Answer : A

(22). Which of the following provides a runtime environment? | ﬁﬁﬁr@aﬁﬁaﬁqw
TCIgH UFRRTHE WS HvdT 82

(A) laaS
(B) SaaS

(C) PaaS



(D) Xaas

Correct Answer : C

(23). Which type of servers dose Web hosting based on? | aasﬁﬁﬂ%\q UPR &b dT T
TR 82

(A) UNIX WINDOWS DOS

(B) Dedicated Hosting Shared Hosting VPS Hosting | éﬁﬁgsﬁ%ﬂ%ﬁ%ﬂ VPS

(C) Web page Web site Web browser | aaﬂﬁaamaaw
(D) Server Web server Webmaster | AR A9 JA¥ ATARCY

Correct Answer : B

(24). Web hosting service where more than one web site is hosted on the same server? | aa

I afda ot v € 9t IR T ¥ 3iftre a9 Wige give &1 wirdl 82
(A) Windows Hosting | ﬁ@ﬁﬁm
(B) VPS Hosting | VPS BITReTT

(C) UNIX Hosting | UNIX BT
(D) Shared hosting | &ﬁ"&éﬁf@ﬂ

Correct Answer : D

(25). Who is the father of cloud computing? | mm%waﬁ-—r%
(A) Sharon B. Codd

(B) Edgar Frank Codd

(C) J.C.R. Licklider

(D) Charles Bachman

Correct Answer : C






